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Q1: Drag numbers to fill in each box to represent 127 in different ways.
You may choose to draw a place value chart. Use paper to show your work.

DRAG DROP VALUES

12

27

127 =__hundred __ tens___ ones

127 = __ _hundred ___ ones

127 = tens ones




Q2: Which of the following shows the number 536? Select the three correct answers.
A | 53 tens 6 ones
B | 5hundreds 3 tens 36 ones
C | 5hundreds 36 ones
D 53 tens 36 ones

E | 5hundreds 3 tens 6 ones

Q3: Selim draws 2 ones and 31 tens on his place value chart. Which number does Selim draw?

A) 231

B 312

c ) 230

D 310



Q4: Drag words to correctly complete each sentence.

DRAG DROP VALUES

a. 830is 8 hundreds 14 ones.

b. 900+ 5is 900 + 4 tens.

c. Eight hundred six is 860.



Q5: Drag >, <, or = to each box to correctly compare the numbers.

DRAG DROP VALUES

6 hundreds 50 ones 605
500+ 10+3 five hundred thirty

1+30+900 139

85 tens 850

Q6: Fill in the blanks to make true sentences. Enter your answers in number form.

a. 1 less than 750 is

b. 1 more than 404 is

c. 10 more than 495 is
d. 100 less than 649 is




Q7: Tia skip counts correctly by 10s from 496 to 596.
Which two numbers should Tia say while skip counting?

A | 497
B 506
C 486
D | 495

E 516



Q8: Drag numbers and words to correctly complete each sentence.
DRAG DROP VALUES

1 more

1 less

10 more

10 less

100 more

100 less

than 756 is 656.

than 829 is 819.

than 599 is 600.

than 498 is 508.

than 215is 115.




Q9: Drag a number or word to correctly complete each sentence.

DRAG DROP VALUES

1 more than 719 is
When ladd 1 to 719, | make a new
1 more than 799 is

When | add 1 to 799, | make a new



Q10: Ben draws a tree. He draws 34 green leaves on the tree. Then, he draws 7 yellow leaves. How many leaves
does Ben draw altogether? Select the number sentence that correctly solves the problem. Use the tape
diagram to help you.

?
altogether

34 7

green yellow

A 34—-7=27
B )34=7+427
C 7+34=104

D 41=34+7

Q11: Sam has a bag of 30 apples. He uses 6 of the apples to make a pie. How many apples are left in the bag?

30-6=__ 00000 00000
/\ 00000 00000
20 10 00000 0oooo

Use paper to show your work. Select the correct answer.

A )24
B ) 26
C 34

D )36



Q12: Last week Ari read 45 pages in his book. This week he reads 30 more pages. How many pages does Ari read in
all? Use paper to show your work. Select the correct answer.

A )70

B ) 48

C)15

D)75

Q13: Kesha has 32 stickers. Josiah has 9 more stickers than Kesha. How many stickers does Josiah have?
Use paper to show your work. Select the correct answer.

A )23
B )37
C 41

D 43



Q14: Take out ten to solve. Drag numbers to complete each number bond and make true number sentences.

DRAG DROP VALUES

80—7= /0-8=

/\ /\

10 60




